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1. Write your roll number in the space provided on the top of
this page.
This paper consists of fifty multiple choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker seal and do not accept an open
booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/ questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.
4. Each item has four alternative responses markéd (1), (2), (3)
and (4). You have to darken the circle as ifidicated below on
the correct response against each item.

Example: M) Q) @ (@ where (3)isithe correctresponse.

5. Your responses to the items are tg be indicated in the OMR
Sheet given inside the Booklet'only. | If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

6. Read instructions given illa‘side carefully.

Rough Work is to'be done'in the end of this booklet.

8. If you write your Name, Réll Number, Phone Number or
put any mark on any part ofithe OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

9. Youhave to return the original OMR Sheet to the invigilators
at the end5 of the examination compulsorily and must not
carry it with,you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy ef OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There are no negative marks for incorrect answers.

13. In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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COMMERCE
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.
1.  Environmental degeneration does not consist of : :
(1) Land degeneration and soil erosion \ p
(2) Problem of over grazing and ecological degeneration {
(3)  Floods f [
(4) None of the above r
2. Which of the following is not the main objective of “Fiscal Poliéy of J}ndia” ?
(1) To increase liquidity in economy /_.4’ »
(2) To promote price stability { |
(3) To minimize the in-equality in incomejand wealth '
(4) To promote employment opportunltles \ ‘j
3.  Liberalization means : -
(1) Reducing number of reserved 1id’ustr1es from 1; to 8
(2) Liberating the industry,, tr‘gﬁq and economy from unwanted restriction
(3) Opening up economy _t_oktli'le world by attaining international competitiveness
(4) Free determination of interest rate
4.  Assertion (A) : Indlistriaiiization of an economy is considered synonymous with growth.
Reasoning (R) : The transfer of resources from agrarian to industrial may be capital or labour
or both.
Codes :
/ (1) Both (A) aﬁE (R) are true and (R) is correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4)" (A) is false but (R) is true.
'.
5. Globahzatlon is the term used to describe process of removal of restriction on which one of
the followmg ?
(1) Forelgn trade (2) Investment
(3) Both (1) and (2) (4) None of the above
oass || AN :
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6. Interest on loan taken for the purchase of fixed assets is a :
(1) Revenue Expenditure (2) Capital Expenditure
(3) Deferred Revenue Expenditure (4) Capital Loss
7. Dual Aspect Concept results in the following accounting equation :
(1) Revenue = Expenses (2) Capital + Profits = Assets + Expenses
(3) Capital + Liabilities = Assets (4) Capital + Drawings=Owner’s Eq%ii;y-
4
8.  Match the items in Column - 1 with the items in Column - 2 : J
Column - 1 Column - 2 f f
(a) Materiality Concept (i) The same accounting method used by a firm from
one period to another- r
(b) Going Concern Concept  (ii) An inappropriate as%um.i?tion of a firm being
bankrupts 2
(c) Historical Cost Concept (i) A nor}gl basis used for accounting assets
(d) Consistency Concept (iv) Relari_:"es to the imjaortance of an item or event
Codes : J \ [
(@ (b) (o) (d) ,/ ,
1) Gv) @) (@) () —
@ 6 @ @) @) “{ (
G G G ™ o 4t '
4) (v) @) (@ @) Y4
9. ‘X’ Ltd. has a liquidiratio of 2 : 1. If its stock is I 40,000 and its current liabilities are of
%1 Lac, its current ratio will be :
(1) 1.4 times I (2) {724 times (3) 1.2 times (4) 3.4 times
10. ‘Comparison offthe financial statements of the current year with the performance of previous
/ years of the saméyfirm’, is known as :
| (1) Trend Analy sis | (2) Horizontal Analysis
(3) .Intra - firm comparison (4) All of the above
11. The MarshallianI utility analysis is based on a less valid assumption of :
(1)|'* _cardinal measurability of the utility
(2) y given marginal utility of money
(3) driminishing marginal utility of the goods
(4) additivity of the utility
oass || AN ‘
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12.

13.

14.

15.

Match the items of the List - I with those of the List - II and indicate the correct code :

List - I
(a) Convexity of the indifferences curve to origin (i)
(b) Quantity of certain goods sacrificed for a (if)

large quantity of other goods

(c) Equality of the ratio of the marginal (iii)
utilities with that of the prices of the
two goods

(d) Separation of substitution and income (iv)
effects from the total price effect

Codes :
(@ (b) (o) (d)

1) (@v) @) @ ()

(2) @) @v) @ @

(3) (i) (1) (iv) (i) 4

4 @ @) @G (@v)

A

List - II
Indifference curve analysis
Consumer’s equilibrium

Substitutability /complementarity
of the two goods

1
Marginal rate substitution
4
I’ [

|
Firms producing and selling a large variety of goods will jgenerally follow :

(1) Cost plus pricing

(3)  Skimming pricing (4) | Produét

(2) | Marginal }';ricing
e pricing

For the following two statements ofﬁ'&ssertion (A) alild'lfeasoning (R) indicate the correct
5

code :

Assertion (A) : All firms undeﬂpg&eet competition in long run earn only normal profit.
Reasoning (R) : All firms under perfect competition in long run operate at the minimum

average cost level.
Codes :
(1)  (A) and (R) both are correct. (2)
(3) (A)is not correct but{ (R) is correct. 4)

(A) is correct but (R) is not correct.
(A) and (R) both are incorrect.

Match the itemi of List - I with those of List - II and indicate the correct code :

List - 1
(a) Substitute ?oods (i)
(b) Compleme faryr Goods (ii)
(e)  Giffen Goods (iii)
(d) .~ High Income Group Consumption Goods (iv)

Codes : |
L @ () (o (d)

O ) @ 6@ 6
@G O @) 6@
@) @) @) 0 )
@ O @ @) @)
oasss [T :

List - II
Negative Cross Elasticity
Low Price Elasticity
Positive Cross Elasticity
Positive Price Elasticity
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13.

14.

15.
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16. Which one of the following is not a method of studying association of attributes ?
(1) Concurrent Deviation Method  (2) Proportion Method
(3) Yule’s Method (4) Coefficient of Contingency
17. Identify which of the following steps would be included in hypothesis testing :
(a) State the null and alternative hypothesis.
(b)  Set the significance level before the research study. f
(c) Eliminate all outliers. /
(d) Obtain the probability value using a computer program such as SIFSS. . » :
(e) Compare the probability value to the significance level and make the statistical decision.
Codes : : Y
(1) (), () and (d) @ ©@andE ( ~
(3) (@, (), () and () (4) a/o;,,<c>; (d)and (e) |
/ |'
18. Select the methods of finding out correlationr_"'from the fo].lowing :
(a) Karl Pearson’s Method J \
(b) Spearman’s Rank Method o/ ;
()  Yule’s Method —
(d) Coefficient of Contingency L r
(e) Concurrent Deviation Metho
Codes : __h -
1) (@ (®) (© 2) (@) (b) (c) (d)
G @ ® e = 4) (@, @) (e)
N
19. A set of data can be distinguished from other set of data by means of :
(1) . Central*value and dispersion
/(2) Central value, dispersion and skewness
(3) Central value, &ispersion, skewness and Kurtosis
(4) None of the above
20. The advent of ccl)mputers in research has led to :
(1)|'* Limitations of options in analysis
(2) " Tremendous amount of flexibility with marginal increase in cost
(3) h.;[yopic exposure of statistics to the researcher
(4) None of the above
oass || AN 8
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21. Who among the following is not related to the planning function given by Taylor ?
(1) Route clerk (2) Time and cost clerk
(3) Inspector (4) Disciplinarian
22.  Match the following :
(Book) (Author)
(a) Functions of the Executive (i)  Charles Babbage ' p
(b) On the Economy of Machinery and Manufactures (ii) Henri Fayol { ,11
(c) The Effective Executive (iii) Chester Barnard
(d) General and Industrial Administration (iv) _Peter Drucker
Codes d [ H'i'
@@ () (o (d) N’ .
M 6 @ @ @) fﬂ
@ (i) @) ((v) (i) F 1 J
@) (v ) O G \ /
@) ) v 0 G __ 3
A (
23. The classical organisation theoryitreats organisation ells a/an:
(1) Open system __h - (2) Closed system
(38) Technical system (4) Macro system
-
24. Which of the following is a{systematic interactive forecasting method that relies on a panel of
experts ?
(1) Pay-off‘nf.ﬂhtrix (2) Game theory
" (3)  Queing thgfry (4) Delphi technique
25. According to Hersey and Blanchard’s situational approach to leadership, the “participating
style’ of leadership has :
(1)|k High task'and low relationship orientation
(2) 1:" High task and high relationship orientation
(3) Low task and high relationship orientation
(4) Low task and low relationship orientation
oass [ [ HMIATIAIE 1
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26.

27.

28.

29.

30.

Which of the following is not a reason for the failure of new products ?
(I) Good idea but overestimated market size.
(2)  Correctly positioned new product, not promoted effectively or overpriced.
(3) Development costs are lower than or equal to estimated or expected.
(4) Competitors fight back harder than expected.
Which one of the following is true for the calculation of overall market share ? { :
(1) (Customer penetration) X (Customer loyalty) X (Price selectivity) 'f; )
(2)  (Customer loyalty) X (Customer selectivity) X (Price selectivity) { r
(3)  (Customer selectivity) X (Price selectivity) X (Customer penetration)
(4)  (Customer penetration) X (Customer loyalty) x (Customer selectivity) x (Price selectivity)
! W
is wielded by a manufacturer that t 'aténs j;o withdraw Ea resource or terminate
a relationship if intermediaries fail to Coopera} ; |'
(1) Coercive Power (2) r_"' Legitimate}.'Power
(3) Expert Power 4) ! Refere‘nce Power
When the consumers favour those products which offer-thé Jlmost quality, performance or
innovative features, then it is called as &
(1) Production concept K J: (2) Product concept
(3) Sales concept A (4) Marketing concept
Match the items of List - IJwith List - IT where the PLC curve patterns are given for different
categories : q:
List - I { List - IT
(a) Product cﬁtegory (i)  One of several variant shapes
, (b)  Product forms | (i) Longest PLC
() Products § (iii) Standard PLC
(d) Branded P}oducts (iv) Short or long PLC
Codes : '
@ ® @ @
D, G @) @ @)
@ L@ Q) Gv) (i)
@) (v (@) @ ()
4 @@ @) @ (1)
oass ||V 2
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28.

29.

30.
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(1) 7= fauR W 99R % 3R 1 STTHYTeRRe

(2) U 3CAR T T TATIH, TR GHTE 7§ FaATHd T8l fha1 e Iqen! hida iy W&t T8 |
(3) TowTE ATl 1 STIHIA AL STUTETT ANTAI o aeR a1 394 FHH T |

(4) ST 1 erdeTa eifush SETe e

Y AR & 3791 1 T & fog freafafed § @ sF-w 9@ €2

(ST ) x (SusiT ) x (T ) {
(SUATEHRTT T T753T) X (SUHTERIT SOT) X (HTHT F0TT) f [
(SUIERIT SROICT) X (hTHd FOT) x (U 45H) ;

(TR HS) X (T4 i FT) x (ITHET ST X (él:,”w-lq aurar)  f

(1)
()
)
(4)

4

g ¥ |i
1 AT fafoehal e @ S e G A1 geR steen el % wed 7 9N W
TrareHl Wl THT FT F AR @ L f '

(1) vdtes wfw ) [ 99 %/
(3) foerm wifem (4) | wed
T IYIFIT 37 IcATS] H1 UeT A § T B goreran, Froares 619361:[ TR a7 B €, 99 39 Fed © ¢

(1) SEHNEA STAEROT ﬂ_‘.f (2) SN SFEALROT
3) foshl sraemon __H (4) fauom sraumon

T - 1 1 711 &l Geib- 1L 71§ Gafera sitse 5 fo fafve sifedi o fae 9.ua. . o gfosd

fame: i (

g -1 | T - 11
e WY .

IS T 4

d) ifee TR
K3 |

L @ () (9 (d)
N Gi) @) @) @)

) (@) (1) (v) (D)
) @Gv) @) (@) (i)
) i

(i (iv)

)
i :
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31. The term ‘capital structure” implies :
(1) Share Capital + Reserves + Long-Term Debts
(2) Share Capital + Long and Short-Term Debts
(3) Share Capital + Long-Term Debts
(4) Equity and Preference Share Capital
32. A company has issued 10 percent perpetual debt of X 1 lac at 5 percent premium':f If tax rate
is 30 percent, then the cost of debt will be : ,.("
(1) 10 percent (2) 15 percent f F
(3) 6.66 percent (4) 8.21 percent i
33. “Dividend is not relevant in determining the value ‘of the compainy Who among the
following held this opinion ? »
(1) J.E. Walter (2) Ezra Soloman
(3) Modigliani-Miller “4) | M] Gi)rdoh
34. The formula % is used to compute tke ; { roé
(1) Total ordering cost - ;‘r (2) Total Calrrying cost
(3) Opportunity cost h - (4) Re-order point
35. Financial Leverage is measured by :
EBIT \ (ear EAIT C
FAT | 2 wpT ®)  EBT @ ERIT
|
36./ Which of the folljwii@g is a key role of HR Manager as defined by Ulrich et al (2009) ?
(1) Personnel Administrator (2) Business Ally
(3) _ Payroll Advisor (4) Organizational Geographer
I
37. Winic_h of the following is the most serious problem that might arise due to excessive reliance
on internal recruitment ?
(1) : reduced job performance (2)  high labour turnover
(3) lack of motivation (4) internal resistance
oass ||V 1
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31. ‘Y @lET W T SR T
(1) 9 gt + o + Selepreiia o
(2) 39 G + SreehTel Te STedehTeia B0l
(3)  3T%1 GSH + QreiehTei 01
(4) HEA A AfHE SFw g
32. & &FAT A 5 gfqed sifeded o w1y 10 Yfaed e %1 % 1 @ &1 fifa fean aﬁmaﬁa
30 wfererd @1 41 BT ot dh ¢
(1) 10 wfw ) 15 gt !
(3) 6.66 Ffaw@ (4) 8.21 gl
33. wﬁéswﬁu’r{mﬁwwwﬁmﬁ% ﬁwnmﬁﬁagmm%mév
W ) o
(3) e 9 faer (4) Q’Er@ T
\/
34. 9 T3 1 gAm freiferd i 9 %@ foparT ST &
(1) FA AT AR < ;{ (2) F @ AT
(3) SR T NS @ e
35. fo<iia ofieRs &1 °ve @W %,:
e S B gt e A
O " gea AT G “eEa @ daema
36.| Freiferfan 4 @ ?;fﬁlsz 3T (2009) B TRHTG TH.TR. Toeish 1 F -9 i TE7 § 2
1) it gaHs (2) =i i
(3) " daTgH] q{‘wiqm (4) EISATHSE Ietferg
37. ﬁ%ﬁfrf@ﬁﬁ@ﬁ%ﬁ?—ﬁmﬂiw%sﬁmﬁmaﬁwﬁ@@ééwﬁﬁ%?
(1) e froaed | & (2) 3= g9 Ed
(3) g kT kT (4) TR gfae
ooss [ {111 ATNNINT i
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List -1

Management By Objectives (MBO)

Critical incident method

Behaviour observation scale

(b) (¢ (d) <
: <

) & i A

(v) (i) (i)

(v) @) § (i) ’{

(i) | (@v) (i)

‘4

38. the List - IT :
(a)
(b)
(©
(d)
Codes :
(a)
1) (i)
2 ()
(3) (i)
4) (i)
39.';
(a)r
(©)
Cc:‘dfs :
(1)
@) (
s [

a

Relative worth of the job

Employer’!; ability to pay

(&, (b) and ()
b), (c) and (d)

Behaviourally Anchored Rating Scale (BARS)

()

The internal factcfts e;ffecting the wage mix include :

Area wage rates

(@) and (c)

All of the above

Match the methods of performance appraisal given in List - I with the explanations given in

List - II

Evaluator keeps a log of
critical incidents to evaluate
performance

Evaluator indicates orfa scale
how often, the appraiSe was
actually observed engaging in
the spe'::ific behaviours
already~identified

“Evaluator ratés on the scale

‘described in the form of
critical incidents

Systematic and organized
approach that allows
management to focus on

achievable goals

Manpower market conditions

Paper-11
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38. g - I, o froares qeanisa foan man B, &1 9= - 11, foad suet =men & . €, 9 gafed
::

A -1 T - 11

(a) SAEER W& UG T @he (MTARTH.) (1) FoAihdshdl TR HT18T w1 Rre
el & e g og fwe %

edierT H FL 2 |

(b) @& g e (T (i) TeTFETE TF WA W T foan €
o Jeaisreft @t sR 3= fafere
TR 1 Al ¢ FSIhT Tg=H T8
@%’Tﬁmﬂaﬁ%

(c) TR = fafy (i)™ Wﬁmﬁﬁnﬁmeﬁaﬁﬁa@m

A » % TRt TR sl % w9 W afvla
/ for gem 21

(d) =FEEr Yaror Yo f {sv) -"JW raferd ©d wfed Iummy S
Je 1 T wAedl W hfed e B

R 4 ( v

@ B © @ =k '

O @ ® 6 @ '

@ O @) @) ()

(®) (@) (v) @) f (i) “{

4) @@ (@) |Gv) (i)

‘4
39.( Teredt fog F1 Tl F A STRE FRF T -

() 1 H AUH A (b) & ASGH

(c) i &1 grerrft &2 o1 wmed  (d)  SISR H Are vt wrare aftferfr

(1) (a>, (b) ¥ (0) () () ¥R (o)

(3)  (b), (0) 3R (d) (4) ST g
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40.

41.

Match the items of List - I with the items of List - II :
List - I List - II
(a) Giri Approach (i) The utility of non-violence as the means of

conflict resolution.

(b) Industrial Sociology Approach  (ii) Organizations are made up of people and the
success of management lies in its dealing with
these people.

g 1

(c) Gandhian Approach (iii) Voluntary negotiations betweenﬂemp;loyers
and employees are a means of settling disputes.
(d) Human Relations Approach (iv) Investigating the undedlying trends and
patterns in the cause and effect of industrial
disputes. . Y
Codes & -
- N |i
(@ () (© (@ /_.4 ”
(1) (@) @) (1) (@{1v) ..'f _|'
@ Gi) Gv) G @) ,u 1 /
@) @ @) @@ (v) \ ‘/
4 @ (@ (@Gv) (i) .
A f

Assertion (A) : Taking of depdﬁti gnd granting of loans single out banks.

Reasoning (R) : Banks act as !'n’lermedlarles when they mobilize savings from surplus units
to shortage units in order to finance productive activities.

Codes : -

(1) Assertion (A) is correct and Reasoning (R) is the correct explanation of (A).
(2) Both Assertion (A) and Reasoning (R) are correct but (R) is not the correct explanation
Of (A) " *

/(3) Assertion («?) is correct but Reasoning (R) is incorrect.

(4) Reasoning (R) is correct but Assertion (A) is incorrect.

42. “Skimming” in ¢-banking refers to :
(1) Identifying fraudsters copying vital information from credit cards
2% Multiple transactions by one credit card
(3) Conversion of a debit card into credit card
(4) None of the above
oass [ [ HMIATIAIE 1
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40. It - 1! 931 1 G - [ 6 76l § gAfad wife

el - 1 et - 11

(a) TR sarm () Toore gorsm & faw wem & w9 7 Afga 1 Suread

(b) SENfTR TS A IAEH (i) ESA Al § 90 § SR YA & q%had 39 | ©
o % 57 Afeaal @ 1 SRR w1 T

(c) iEftaTdt SunTH (iii) T Td FwHfE & = % faar i gerem & fao
T S T 9169 § | P

(d) - YA (iv) SiENfTeR g o ®R0 R 996 @l S & fae 37
Tfifed germai R TET Ht TS |

%7 : “ 8 >

@ ® © @ L

M G @) 6 W) 4% °

2) i) Gv) () (i) / ."

@) @ @) @) (@) f \ /

@ O @ @) /

41. Tg=Ee (A) - wmq’wﬁqvuqnw@‘%wmma‘gﬁaﬁﬁﬁwm%l
7 (R) : Wmh%agﬁwﬁ%ﬁﬁwﬁwaawﬁﬁwﬁaﬁawaﬁ
TR @ T F ) A A # we wE e E

%< .

(1) frvoem (A) TER ﬁi{ﬁ (R), (A) T T =T T |

2) TrveEa (A) SR T (R) I 921 & T (A) T T AT (R) T ¢

(3) e (A) T8 & T 9 (R) T

"4

ﬁ(R)HﬁﬁFWﬁW(A)W%I

42. 3-ofe o fenfa 9 sfiuma 2

(1)

4

o | .
Shfee e H TEAU SR S Tohel HT ATt URESTSI i Tga Tl

(2)"y T shfee e ¥ fafay =reer

)'|
)
)

T Sfoe HTS F shfge TS | TR
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43. Match the items of List - I with List - II in terms of functions of a bank :
List - I List - IT
(Activities) (Functions)
(@) Underwriting (i)  Primary Functions
(b) Transfer of funds (ii) Granting Advances
(c) Overdraft (iii) Utility Functions
(d) Recurring Deposits  (iv) Agency Functions ¢
Codes : ..r‘; .
(@ (b) (o) (d) f [
1 @ @@ @) () *
(2)  (v) @) @) @ e f
(3) @) @v) @ @O y & \
@ @ ) @) 0 g
,.'f I
44. Which among the following is not a subsidiary of R ser\fle Bank of India ?
(a) Deposit Insurance and Credit Gaurantee Cor;lr tion of India.
(b) Bharatiya Reserve Bank Note Mudran Private L1n1it§d.;"
Codes : %4 f
(1) Only (a) <« J @ ony@)
(3) Both (a) and (b) l { = (4 Neither (a) nor (b)
45. Which among the following is not associated with NABARD ?
(a) NIEAF { (b) J{ BIRD (c) RIDF (d) SHPI
Codes : \
(1) . (@) only 4 (2)  (b) only
+(3) (b) and (c) ?nlyl_l (4) None of the above
46. Examine the folléwing statements and choose the correct code :
Statement - (I) :; Companies with Low cash reserves normally prefer Licensing mode rather
than Foreign Direct Investment.
Statement - (IT) : Cash rich firms normally prefer Foreign Direct Investment.
Cod'és :
(1) Broth (I) and (II) are correct (2) Both (I) and (II) are wrong
(3)  (I) is correct but (II) is wrong (4) (I) is not correct but (II) is correct
oass [ [ HMIATIAIE 2
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43.

44.

45.

46.

% o A & G H eI - 1 1 A o1 e Gt - 11 % 71 o 91 i

Tl - 1 Tl - 11
QEERICTSIED) (=)
(a) STfwTge () s wr
(b)  RIHI T TR (i) AUH YSH HT
(c) Afufasd (iii) ST S E
(d) sTEdt SEE (iv) TSt wE
%e : {
@ (®) (© (@ |
1 @ @) (v) (i)

)
@ v @) @ )
) G @) @) ()
@ (@) () @) () -

/_/ F

et & % % T s foord o 77 et e TR

(a) R ST SH U6 | gy 1 f \ .

(b) R Red 9% e qeu uee fafies d/ 7
e Y ' aadd

(1) o (a) (® ¥ (b)

(3) (a) 3R (b) TFA \ ":" ¢ @ (23D T RE T

ﬁmﬁrﬁwﬁ@ﬁ?—mm%maxﬁaﬁﬁ%?
(a) TIAEITTE.  (b). FARIRE. (o) RAEDTH (d) TITIIE,

%< : {
(1) 9 (@), (2) e (b)
(3) Had (b) %(c) (4) W H Y FE T

ﬁmﬁfﬁaﬁmﬁaﬁﬁwaﬁmﬁw?aﬂwaﬁm:

HT - (I) : T Sfera TeRdl aTelt st AT faeeh geet e % T W adEn
; | fafy =1 erfem 2t ¥

HY - (1) : Thal B TR i amraan faeeh gere fraw & st <t €1
B3

1) (@) R 1) <A = (2) (1) 3R (I1) IHT Terq F

(3) (1) 92 & 9% (II) T (4) () o § TG (I1) T 2
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47. Which one of the following is not a feature of Business Process Outsourcing (BPO) ?

(1) It enables executives to concentrate on strategy

(2) It improves process and saves money
(3) It decreases organizational capabilities
(4) None of the above

Ty

48. The major outcome of the Bretton Woods Conference was :
(1) Establishment of IMF and IFC (2) Establishment of IBRD and IFC {
(3) Establishment of IBRD and ADB (4) Establishment of IMF and IBRD f

49. Which one of the following is an important activity of the World Bank borrowings ?

§
(1) It borrows in the international capital market . *“ ' (

2) It borrows on currency on swap agreemgﬂfs .

()
(3) It borrows under the discount net progf‘ammc? }
@ |

4)  All of the above / \ /
50. Which one of the following statements is false ? —= £
(1) IFC was established in July 1956 4, (
(2) IFC encourages the growthiand development of Public Sector Enterprises in member
countries Y4

(3) IFC is an affiliate of the World Bank

(4) IFC encourages the growth of productive private enterprises in member countries

-00o0-
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47.

48.

49.

50.

frefafed # 9 S9-91 SA9R 9w &1 seeifdn (o937, ) 1 deq0 &t ¢ ?
(1) 38 FEHINE 1 WHITG T THT BH & A0 T2 |

(2) =8 Wishan | QR Tl § 31 &9 1 == 7

(3) UE HISATHS | I BTl ¥ |

(4) ST H F HE T

e g5 Fihd 1 qeF fvig o :
(1) STE.TA.UE. IR TE.TE.T. S T {
(2) STH.ARE. o U E. F T f f
(3) oTE.SM.3ME. IR WELE, i T

(4) STE.TH.UE. IR TE.o1.3TR.E. i T

freff 4 % - fava 4 o 1 oo 6 87 7
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UGC NET Commerce- Previous Years Question Papers

Inany UGC NET exam, you will find large number of questions appearing from previous papers. So whatever
sources/books/websites/coaching you are preparing from, going through previous papers is a MUST.

So, how to make best use of these question papers ? Start solving papers one by on. While solving each
question, try to understand the “entire concept” not just the given “question”. For example, if question is:

Which of following is not one of 4 Ps of marketing?
(A) Product (B) Price (C) Place (D) Process

Now do not just look for the Answer (Option D)? Also find out, what exactly is 4 Ps of marketing? Which
management Guru gave this concept? What each P stand for? What are additional 3 Ps for Services? etc. Do
not just solve the particular question...Learn the Concept...Questions will not repeat in next exam...Concepts
will repeat...You should be equipped handle any question on 4 Ps of Marketing, just because you did one
guestion.

Please mind it that, it will take time. May be 8-10 hours for each paper.... But if you attempt all previous
years’ papers with this approach, no one can stop you from getting very good score in UGC NET.

Human Peritus courses have been designed with this approach only. By doing it over the years, we have
reached a stage, where consistently more than 85-90% of questions in the exam, are from our course. Check
the website of HUMAN PERITUS, to understand how thousands of students are clearing UGC NET with us.
If you have something else on your mind, you may connect with our team.

Email- contact@humanperitus.com

Phone- 9717781110
Website- humanperitus.com

All the Best.

HUMAN PERITUS
Www.humanperitus.com



